' L’I _8_,3 E_;l 'lH E E Il E FE2 £ £ oM AH|AH= st2l

HE 2023.8.11.(3) =t Y = 2023.8.10.(=)
Se=T=P¢ A2AZES MAX | B O HAE (02-3145-7590)
=er SHAL=E BEA | =AY OlETl (02-3145-7608)

HEI S

N
=)
N
%)
[
~
(e
o
Al
re
Ol

z2 WS -

[ (%) ‘87495 9592 3374 6410995 £l 3k,
BRAANA 6,06009AS TFA B, F 1% 247099 &FA

* QIS HAME ATZ 8550 =OiE, TASAIE 2X 49608 =04
(1232 8) - HEG3EY)] - U7|8ehE4ZR) = 0628 48

1=

o F4 1719 el £S5 A, AD 5AY A% £FA

[0 (ES72) 'B7€E A =02 AFF4 7017217
264%), FFANH 243.6 A (FFAA 99%) T T 9453F Y9
FASHE B

= 4. '2379 £l A3 ‘2869 hH] BH53A F7H+00%9)
AA: ' B7Y 52 AE, '23.69 U] B3 Z7h+08%9)

< 2|Felo| 4FFH =FX A EReE>

(52l M, % BHIIF)

M>

= ] 1
T2 29 T Tem | 222 [ 6w | 7@ [mand
Z= A A11,134| A19,904 8,770| 10058 A322 641| 701,748
N 5,821 8,375| ~A2,554| 13,935 2,054 606 | 243,572
ot Al A5313| 411,529 6,216 23,993 1,732 1,247 | 945,320
* MHFME HUAY J|FE MBS T EAHY 7|F




264% T)

* QIS HAIR ATZ 8550 0T, BASAIR 2 4960 #=0f

(] (XI198) #3H(28x4d), otrot04xd) 5 ST, FIF(22129),
TE(002x29) s €=

[ (BSRP) "= 28632 (=9 AA9] 408%), F+H 2205F Y
(31.4%), OFAlo} 949F U7 (135%), TF 21.9F ¥ (3.1%) I

= = o

o MIIEE 4465 9(64%), B 1535 HUQ22%), L2 148X 2.1%) S
@ 2378 F82 I7IE-XYE 2= F4 ojoj g

=

* A 6712 (9.6%), FEFED 4425 2(6.3%), OFYHE 312X A 44%) &

(Che - AR % ZXN7]F)

=0 A2l =0 A9 X oqE

d= 1,745 o = A 1,800 = = 2,849
MtEE 877 | EHIREZ A406 | OfA|O} 438
Ofeic 662 7 LtCH A321 o 22,119

@ 2= F4 ojoj 3 E{ 0]

(CHe - MR % ZXN7|F)

T = 0 =@ O E@b) =0i+'@-b) Eg=H A7ISA TES
224 12 56,481 56,078 403 573,815| 2,174,809 | 26.4
22 BHAH | 794,474 805610 A11,134
23 5 73,569 | 70,270 3,299 | 693,258 2,562,722 | 27.1

6 84,068| 84,390 A322  691,725| 2,569,577 | 26.9
78 | 105406 104,765 641 701,748 2,659,811 26.4

* (@0lp) HEXFHEETR), FALUESAELW), ¥EXFZHEN) S Hel, (=Zs) 55

_2_



IOI. HHEX S =2, 2x)

& 23749%F =02 AFAAE 72 13094 S oW,
6Z 4,070 9SS w743 Hol E 6,060 Y &F A

(] (KI™E) olA)ot21zx9)), FIF0629) XY 5o 532, %
(21.029) A9 &

O HF7RE < oFAlo} 11132 YU @5.7%), 9 73.6U(30.2%) A

[ (BFE) FAesz=NE €54, FAA(a072dE 35359,
2379 AR I 21482 (882%), ST 281FYH(11.5%) EA

X

(1 (ZEEEDIE) ZERE7] 1~5d  \9h2ozxd), 59 o] 4 @B7x9)
AAAA = FR

_,d
ok
2
=

(S| . Mot 9 AN 7|E)

X4 SR4 FHETH|E
OfA| Of 2147 = X 2,347 | 54 O|&t 3,676
o = 628 | SK A733 0 1 ~ 54 2,940
7 259 2| ARXH A141 | 14 O)gt A6,010

(EH2l : AR, % ZH7|F)

TR 2US@UIIAE Sb) £ ERHa-b) BRI YBTY =

22 128 2,873 6,904 A4,031| 228,568 12,351,130 | 9.7
22F A | 69,313 63,492 5,821

23" 53| 16,040 5175 10,865 | 238,697 2,460,581 9.7

62 | 16,421 14,367 2,054 242,768 2,459,069 9.9

78 7,013 6,407 606 243,572 2,470,750 | 9.9

w2 A28 20l BEEE A0 = sSHE EII6H F=A1D| HIHHLICH (http://www.fss.or.kr)

_3_


http://www.fss.or.kr

=ail || A=0I YT &l &

0%
*a
HL
10
re
ol
oin

MH>

[] 2918 ¥8F4 =0li= T9

(519l AR, % ZRI7IE)

= X 224 231 5 = 78

= 8,873 1,387 AAT76 A530 1,745
A= 1,453 A823 313 304 877
orglehe A287 3,122 371 15 662
L =90 2,481 2,431 246 308 503
A2 727 AT3 A28 A50 296
2ty O| A| OF 207 938 156 174 138
7O THA| &= A1,761 ~378 74 AT44 A152
=2 A 1,855 A505 A60 31 A254
A= 254 A279 A98 51 A290
70 LfCF A611 A1,393 134 A413 A321
EMdE=Z A4,852 2,794 858 N272 2406
O|= 4,148 2,472 1,499 1,155  A1,800
Z|EL A2,165 366 311 A351 A357
2% A11,134 10,058 3,299 N322 641
) 280 mE X7 US = US

(=o1e 835N 28 oY

(191 : Aolel 9% ZHI7IZ)

= N 219 | 22dT | 23 7R z=zEY H =

o= 316,228 234,143 286,335 22.3 40.8
= 65,831 49,467 67,100 35.6 9.6
o =S 53,350 39,621 44,573 12.5 6.4
EMdE=z23 53,686 34,883 44,224 26.8 6.3
OfdzHE 33,709 24,067 31,159 29.5 4.4
L =9|0] 20,847 17,431 22,678 30.1 3.2
FHLFCEH 22,970 16,679 18,734 12.3 2.7
Elp=i= = 22,389 14,757 18,057 224 2.6
SF 17,005 13,163 15,873 20.6 2.3
S 17,064 12,578 15,259 21.3 2.2
A= 16,463 12,391 14,764 19.2 2.1
A O|HA| &= 15,865 10,687 13,238 23.9 1.9
A QA 15,376 10,635 13,144 23.6 1.9
23 14,910 8,514 9,354 9.9 1.3
AL 12,533 9,025 8,618 A4S 1.2
F0|E 9,087 7,037 7,944 12.9 1.1
Zk2f| O A|OF 6,947 5,175 7.516 452 1.1
7| E} 70,968 53,563 63,177 18.0 9.0
2HA 785,227 573,815 701,748 22.3 100.0
1) ST fe] S4E5

Z2) gredol e QX7 g & AUS



(1 2=212] RIIZ-AUE B¥FA =i+ =0l
(£ - Motgl, % ZH7|D)
TR oz 93 o 53 s¢ gz JF g 2 2R s
214 | A7787 15,821 314 A489 A1L0%6 2898 1,200 A10354 A24,931
68 | A1,242 493 398 A209 A6 204 162 165  A499| 842,340 (29
78 212 12,317 A93 A3 A163 A101 5 A1372 23778 811,008 (294
8& | A1,344 A1345 4870 5 2222 A141 A780 A3120 A7816| 797,895 (282
oY 850 411 A121 17 15 49 6 2100 2505| 769,179 (281)
108 [ A1,280 2624 2241 2228 A184 A13 150 2915 A3,335| 742,166 (27.9)
[RE= 1,035 1,785 280 A18 285 A171 153 2440  2538| 734,132:(283)
128 2,264 N\2,466 286 87 425 400 386 2973 4,357 785227 (287)
224 4148 A8872 ~n4,852 A126 ~A352 253 A288 A1,048 A11,134
14 1,742 12,337 N2 A160 131 A103 173 A1,081 A1,677| 722,468 (282)
28 [ 2690 A1286 A557 76 A8 476 393 2906 A2580| 724,948 (280
38 1,157 A1,722 1857 15 A310 156 7 N3313 24866 725178 (27.1)
48 | 2974 A1844  A69T 168 58 A57 235 A1682 25294 696,222 (26.7)
58 | A1106  A15 A2 51 52 43 N9% A0 A1,614| 695,857 (26.8)
6 A0 A2416 A1,030 33 269 242 406 117 A3,873| 593,690 (264)
78 1,730 2959 A337 A5 A23 168 A181 A149 245| 630,380 (264)
8d 1554 1,974 9 23 114 A236 313 19  3948| 630,598 (26.2)
98l [ A783 A2202 1932 34 A113 109 A188 1,742 ~2,333| 550,354 (26.2)
10& 1,142 308 A166 50 A25 205 398 16066  3579| 595213 (26.8)
[RE= 1427 2295 1468 A57 252 A405 A105 292 2928| 637910:(26.7)
128 [ A91T 2668 21 Al6 A31 261 Al61T 2110 403| 573,815/(264)
234 2473 1386 2794 122 309 A279 3124 377 10,058
18 1,621 A8 1,59 71 4 157 723 992  6,146| 635,979(26.9)
23 307 962 767 A19 A57 A1360 412 A1,068 1,169| 635,069:(26.7)
38 N3 A89 127 N2 AN27 18 974 A2239 A2,142| 649,714 (264)
48 | A236 A364 124 49 123 19 A33 1683 1,268| 661,220 (26.6)
53 1499 2476 858 47 37 298 371 1,155  3299| 693,258:(27.1)
63 1,155 AL530 A272 51 82 51 15 2874  A322| 691,725(26.9)
78 [A1800 1,745 2406 A107 111 A290 662 728 641| 701,748 (26.9)
)(—.‘_-‘-DH T) SYX[FHE ETF), FALHESAHELW), HEXFZHEN) 5 Mo, &S & 55

2R T ARt L



=22 || A=R09 HBIMAH ETE =5EII 4¥ S
(] ¥ TFE =X & 212
(EH] - AR, % ZH7[E)
T8 2/ | S morxy | SIAMH | XIERY | F A
22U 2R 193,017| 33,881 18,190 1,670 0| 228568
(Hl &) (84.4) (14.8) (8.0) 0.7) 0| (100.0)
(SHTHACHH| H|S) (18.9) (4.6) (16.1) (0.3) 0 9.7)
223 =FXHA 20,934| A16,732 218,261 1,619 0 5,821
‘2378 ER 214,810 28,073 19,511 689 0| 243,572
H 5) (88.2) (11.5) (8.0) (0.3) 0| (100.0)
(SYTHACHH| B|S) (19.6) (3.6) (15.4) (0.1) 0 (9.9)
783 =E% 2,347| A1,600 AT733 A141 0 606
=0 5,084 1,929 1,566 0 0 7,013
F|det S 2,737 3,529 2,299 141 0 6,407
‘239 =EXHA| 21,088 A6,162 1,011 2990 0 13935
2t Y HETH ohy) Qe 2] HIF
() &2t BBMH &5X % 28 0|
(BH - AR, % ZH7[D)
T = | =FA TS TES o7\ ME | EREH (H| =)
‘224 5,821 69,313 63,492
78 3,561 6,156 2,595 233,534 (10.0)
8l A1,852 4,622 6,474 231,820 (9.9)
9 A980 6,723 7,703 231,009 (9.8)
108 16 4,187 4171 231,379 (9.8)
11€ 732 4,231 3,499 232,188 (9.8)
128 14,031 2,873 6,904 228,568 9.7)
‘234 13,935 58,938 45,004
18 6,568 A3,536 3,032 221,977 (9.4)
2 AT78 2,824 3,602 221,409 9.2)
3E 3,064 11,684 8,620 223,675 (9.3)
43 4,691 8,492 3,801 226,788 (9.3)
5¢ 10,865 16,040 5,175 238,697 9.7)
6 2,054 16,421 14,367 242,768 (9.9)
78 606 7,013 6,407 243,572 (9.9)




(EF9] : Mol % ZHIIF)

1

T = =N 1~5d 5d oly A
224 A46,463 29,904 22,380 5,821
74 A301 1,782 2,081 3,561
8 A5,557 1,854 1,852 A1,852
9g 16,054 3,676 1,398 2980
108 A4,277 2,460 1,833 16
11¢ A2,652 2,127 1,257 732
128 A7,401 2,584 786 A4,031
‘234 A26,132 20,609 19,456 13,935
18 A7,100 A832 1,364 26,568
2 A3,329 AAT8 3,028 ATT8
3g 21,759 2,913 1,910 3,064
4 A321 3,703 1,309 4,691
58 2,047 5316 3,502 10,865
6 29,660 7,047 4,667 2,054
78 26,010 2,940 3,676 606
F) EE2E0 M2 X7t AS = Y
(] =018 YPMH 28 FO|
(SH] - MR, %, AH7|E)
TE 14 ojar 1~543 58 0¥ A
22 78 64,611 (27.7) 93,696 (40.1) 75,227 (32.2)| 233,534 (100.0)
8g 60,607 (26.1) 93,767 (40.4) 77,446 (334) 231,820 (100.0)
9 62,694 (27.1) 87,827 (38.0) 80,488 (34.9)| 231,009 (100.0)
108 62,477 (27.0) 86,504 (37.4) 82,397 (35.6)| 231,379 (100.0)
11¢ 59,819 (25.8) 87,353 (37.6) 85,016 (36.6)] 232,188 (100.0)
12¢ 59,871 (26.2) 87,966 (38.5) 80,732 (35.3)] 228,568 (100.0)
23 18 53,824 (24.2) 86,135 (38.8) 82,018 (37.0)| 221,977 (100.0)
28 51,064 (23.1) 85,075 (38.4) 85,269 (38.5)| 221,409 (100.0)
38 56,863 (25.5) 81,513 (36.4) 85,300 (38.1)| 223,675 (100.0)
43 57,644 (25.4) 83,573 (36.9) 85,572 (37.7)| 226,788 (100.0)
5 59,869 (25.1) 89,695 (37.6) 89,133 (37.3)| 238,697 (100.0)
62 57,244 (23.6) 96,313 (39.7) 89,211 (36.7)] 242,768 (100.0)
7H 52,676 (21.6) 98,080 (40.3) 92,816 (38.1)| 243,572 (100.0)

F) g0 OE 2X7F As = ™



